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QUESTION 1

You are receiving the same 200.0.0.0/24 BGP route from four different ISPs. Referring to the exhibit, which ISP\\'s route
would be selected as active? 

A. ISP-B 

B. ISP-A 

C. ISP-C 

D. ISP-D 

Correct Answer: D 

 

QUESTION 2

Your network connects two segments of your customer\\'s network as shown in the exhibit. They need to exchange
routes between Segment 1 and Segment 2 but both segments use the same AS number. 

Which two steps will accomplish this task? (Choose two.) 

A. Configure the routing-options autonomous-system loops 1 parameter on routers R1 and R4. 

B. Configure the BGP group with the advertise-peer-as parameter on routers R2 and R3. 

C. Configure the routing-options autonomous-system loops 1 parameter on routers R2 and R3. 

D. Configure the BGP group with the as-override parameter on routers R1 and R4. 

Correct Answer: AB 
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QUESTION 3

You are creating a new LDP signaled Layer 2 circuit between three customer sites. 

In this scenario, which two statements are correct? (Choose two.) 

A. BGP is used to exchange the virtual circuit labels with other PEs. 

B. You are allowed to tunnel your LDP sessions through RSVP LSPs. 

C. You are not allowed to use any RSVP-signaled LSPs in your core network. 

D. LDP is used to exchange the virtual circuit labels with other PEs. 

Correct Answer: BD 

 

QUESTION 4
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Referring to the exhibit, which two statements are true? (Choose two.) 

A. The route-distinguisher configuration allows routes to be shared between CE-1 and CE-2. 

B. The vrf-target configuration stops routes from being shared between CE-1 and CE-2. 

C. The route-distinguisher configuration stops routes from being shared between CE-1 and CE-2. 
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D. The vrf-target configuration allows routes to be shared between CE-1 and CE-2. 

Correct Answer: AB 

 

QUESTION 5

You have a Layer 3 VPN established between PE-1 and PE-2 to allow communication between CE-1 and CE-2. You
want to establish communication between CE-1 and CE-2. 

Referring to the exhibit, which statement is correct? 

A. You will need a BGP export policy on PE-1 to redistribute the OSPF routes, learned from PE-2, to the CE1 BGP
neighbor. 

B. You will need a VRF import policy on PE-2 to advertise the OSPF routes, learned from CE-2, through the Layer 3
VPN. 

C. You will need a VRF export policy on PE-2 to redistribute the OSPF routes, learned from CE-2, through the Layer 3
VPN. 

D. You will need a VRF import policy on PE-1 to receive the OSPF routes, learned from PE-2, through the Layer 3
VPN. 

Correct Answer: C 
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